p-" [pb/GeV]

d?0/ d N d

|
o
R

Ratio to ATLAS

|_
1071

0.5

13000 GeV pp tt
-~ T T T T T "~ [ T 1 T T =
= e
L top . . 19
- P, (ATLAS semileptonic ttbar) 1o

A=
B m ATLAS _| g
—a— Pythia 8.308 default N
- Pythia 8.308 tune-1 —] 9!
- Pythia 8.308 tune-2c =P
- m Pythia 8.308 tune-2m 1o
| \\\‘A —
= El5
L i Nep)
— =
(40)
| o
N —4 O
(49)
—i
N =
X
| — .G
= 15
- . =
— . ] B
Q
| 1 wn
u 15
o
(&)
_l | | | I l | | | | !_ =
= =2
1
| —0.5
| 1 1 " 1 1 " | " 1 " 1 1 1 " |
0 500 1000

pt"= [GeV], N = 6



	Contents
	Page 1


